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PART ONE . Multiple Choice Questions (MC
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| Eeemmm—— Section-B : English (20 Questions) 1x20 =20 S

Q. (21-29): Read the following passage carefully and answer the questions .b?sed on llj .lx 5=50
; y e jon has focused on visible, explicit aspects
In most discussions of cultural diversity, attentxo.n ; ial rituals. Although
of culture, such as language, dress, food, religion, music a.r}d soc .

i isi ions of culture, which are taught deliberately
they are important, these visible expressions of € Uik oilbre &
and learnedconsciously, are only the tip of the iceberg of culture. S ol
taught and learned implicitly, or outside awareness. Thus, nexth.er cultural insiders nor
cultural outsiders are aware that certain "invisible" aspects of their culture exit.

Invisible elements of culture are important to us. For example, how ‘.0“8 we can be late
before being impolite, what topics we should avoid in a conv_ersahon, h.ow we show
interest or attention through listening behavior, what we consider beauhﬁ.ll or ugly —
these are all aspect of culture that we learn and use without being aware of it. When we
meet other people whose invisible cultural assumptions differ from those we have
learned implicitly, we usually do not recognize their behavior as cultural in origin.
Differences in invisible culture can cause problems in cross-cultural relations, Conflicts
may arise when we are unable to recognize other's behavioral differences as cultural
rather than personal. We tend to misinterpret other poeple's behavior, blame them, or
judge their intentions or competence without realizing that we are experiencing cultural
rather than individual differences.
Formal organizations and institutions - such as schools, hospitals, workplaces,
governments, and the legal system — are collection sites for invisible cultural differences.
If the differences were more visible, we might have less misunderstanding. For example,
if we met a man in a courthouse who was wearing exotic clothes, speaking a language
other than ours, and carrying food that looked strange, we would not assume that we
understood his thoughts and feelings or that he understood ours. Yet when such a man
- 'is dressed similarly to us, speaks our language, and does not differ from us in other
' obvious ways, we may fail to recognize the invisible cultural differences betwen us. Asa
result, mutual misunderstanding may arise.
21. What is the main purpose of the passage?
@ To explain the importance of invisible aspects of culture
® To describe cultural diversity W
© To point out that much of culture is learned consciously
@© To explain why cross-cultural conflict occurs

Hints : 93 Passage 404 invisible aspects of culture T2 SICeT 91 2030 |

‘| 22. The word "Deliberately" is closest in meaning to -

@ slowly ® accurately © randomly @ intentionalls
) y
Hints : deliberately — IRPSEII, (ST | (O intentionally — I |
23. The author implies that institutions such as schools and workplaces

@ Teach their employees about cultural differences
® are aware of cultural differences
(© reinforce invisible cultural differences

LearningHomeBD | http://bit.ly/job-sol-app

' 4, The. word "exotic" could best be replaced by—
@ improper ® foreign
© outdoor

v for invisible cultural difference,

reinfines %ﬁ) g IR work place 7 Ty formal place @ cultural difference

) @ formal
Hints : exotic—3IfZamre/ M, e foreign,

Q. (25-28) Each question has a pair of cpapitalized words followed by four pairs of
words. Choose the pair of words which best expresses the relationship similar to that
expressed in the capitalized pair.

25. SYMPHONY: COMPOSER

wrre

@ rain : flood ® light : switch
& novel : author @ song : music
Hints : Composer (3%, Mewrm) Mo 5 (symphony) 2/} T ATET | (ST quthor
(GTIP) BT A novel FAiTe e |
26. UNEQUIVOCAL: CLEAR
@ gloss : agile ® genuine : invisible
© excuse : barrier @ frisky : playful
Hints : Unequivocal (f8) : clear (™/8)— 1 5151 37 | S option ST FTY (d) frisky
(2N 5%527) R playful (5967)8 1 |
27. EXPAND :VOLUME
@ ascend : flight

® proliferate : number
© bend : flexibility @ deflect: heading

Hints : Volume (F$77 I WISAIS) (& G 36 F1 T (expand) COTA number ()-8
& 31 A0 (proliferate) |

28. COWARD :BRAVE
@ philanthropist : selfish ® martyr : impatient
(© traitor : careful @ hero: cynical
Hints : Coward (S1%) @32 Brave (W) 717 [Rod1e149% | 3% S philanthropist
(ERIRSR) e selfish (F149) 8 A7 oo |

Q. (29-32) : Choose the word opposite in meaning to the given word.
29. Venerate

@ Respect ® Condemn

© Inculcate @ Severe

Hints : Venerate (show deep respect) ST 17 (il

; ct — A

:. RCZS::emn — "% o7l [match]

¢. Inculcate (teach earnestly) — FPOIS PIRITT

d. Severe (high, extreme) - S |

L = -

28
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S 30. Eulosisﬁc
: S ® Stem © Citical @ Brief
ints : Eulogistic (praise) — W
a. Pretty — F#q
b. Stern —  I@1T
c. Critical — RIceTs=9 E
d. Brigf — RI% | i i
7T in @ particular re;
T ; B % Onewnonge, . o
Obliuity ® Disparity © Contrast @ Divergen® p gy, nkind—
Hints : Parallelism (agreement in position)— %7 e 7@ X8 thrope £
a. Obliquity— 3@er
b. Disparity— 17 [may be]
¢ Contrast— ?*’Z’gvlmybel, forg 5f5 B o, w1 oy BT (T ST
. d. Divergence — [match], <@ Z9R R E-RIFTE X/
- 32. Debonair :
® Balmy ® Awkwark © Good-looking @ Windy
Hints : Debonair — & ) ;
a. Balmy— ZAIF1S; b. Awkward— &, C. Good-Jooking—STCFT &4 d. Windy—=="" 2 :
; -| Q. (33-36) Rearrange the following sentences A, B,C D EandFin proper sequenc® ? Hints : ¢, £
4 form a meaningful paragraph and then answer the questions given below. “ bA rlstr - Elite— wfSgre
IS A. Miss Asha arrived at the Sheela's home when Helen was seven- 4 ol ocate— S Pfe |
B. The deaf and blind Helen learned to communicate verbally- ‘ o igh brow— 9% foury e
C. But, eventually Miss Asha's effort was rewarded: ) - Intelluctual— ey,
D. Before Helen, Sheela was two years old, she lost her sight and her hearing.
E. Miss Asha worked colsely with Helen, her new student.
F. At times, the teacher became frustrated.
¥ 33. Which sentence should come first?
A ®C ©D @E
Hints : (33-36) T 2z & &V rearrangement- < serial T
A-1
B-6 Ifyourearran,
ge the letters "ENG .
-2 Oty Gt
& E=3 ; E rrange P “England”
| = ) . na certain code TABLE js wri
} s . ABLE is writte
I ; wpdfe A T7 First sentence, B T4 6th sentence Fofi | @ VNB T n
{ Which sentence should come third? -~ A . Hints: T @ 76 v w
e ® Ay, w W 4D
35. Which sentence should come fifth? ; .
@A ®B ©c @D S @ 7B 7 v v
K w on o
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44, 'Retard" s to Tmpel as 'Obfuscate' is it . ’
@ Hallucinate ® Irradiate W/M)use@zﬁl e el
Hints : retard 3107 delay (Re7%) : Impel (e m o W
(Rt 7)) : Irradiate (ST F) £ Br5! meaning.

/ 45. Which would be third in alphabetical order?@ oo —

Maund! (® Mauve
?ms U;W;WIW Mare, 9 Maundy @3 3rd 9 Mausoleum.

'.), —L < ~ . 'Professon'sKey vo Governsient BANK' 38b (M9

o1t ssmgnumber l‘*.ll‘sp‘-é;z
. . 6=9-3;2=3-1
@;/37/ B L. 9=19110:3=10-7
S I=7-2
17 1k =7 e
L sz Q. (50-52) Answer the questions on the basis of the information given below. - :
100 <o *  Distribution of workforece by occupational category for region " yz in 2001 and projected for 2015 i
@10 ORLUREA ) Total workforce : 150 million Total work force :175 million
Hints: 26 +16+18 - fm 601';’ ¢ - Professional 1% memlanall% —
3 T TR term@t : 32, 16, 8 B | ; Beven,
13+B+—=25

52,26,13 S
) s2+32+3 2100 8100, 50, 25 AT | SR 74 W |

Mmufanum\g
= Agncultunl
Clerical 4&

47. What is the maxi ber of 33 squares that can be formed from the squares in Clesical N ROpT
the 6 X 6 checker board to the right? 1 Sales Sales M‘“‘B‘“‘l I
@4 i 0 fa st 009003 “incnraoagya e = 1000 oo B015:(Brbjected) s ol L
®1 50. What is the ratio of the numberofworkelsmthe Agm:ultural category m 2001mthe
+ 08 pto,ectednumbe:ofmchworkmmzou? it
1 3 B .
@3 ® 4 ©7 ; @ 5

SERGL NS 59077 - 18%0f 150 millioti 18%150 9 gt
"lr{!?,’.;,.» 2015 ~-24%of 175 million, ~ 24X 175 1= 14, iy &3t
51 In 2001, how many categories each comprised more than 25 nulhon workm?
sﬂi @Qne ® Two © Three ) @Fou:
Hints : 15% of 150 million = 22.5 million < 25 million )
Now, 18% of 150 ", * =27 million e
S0, 18%, 20% and 28% would be the cafegories with more than 25 million workers. -
52:7From 2001 to 2015, there'is a pm]echd increase in the number ofwurku‘sm which oi z
the following categories?. ;- A d
@ Sales ® Service. - : ©C1encal @a,b&c i
. Hints : 8% of 150 = 12 mill, . ;
7% of 175 = 12.25 mill, mcratsed in sales
15% to 16% in service, clearly increased
20% of 150 = 30 mill
18% 0f 175 = 31.5 mill, increase in clerical.
So, #,b & call projected increase

Hints : 43 37 @17 7100 <oy 3x3s

Square OICE QIBCE GF cheker bord war &
=, Total 16 3 x3 square 7 553 rd < Co fory

rild

48. Which number s the odd one in oval A and B Tespectively? Rk
12

48 6

B 36 12 30

A 42

36 24

18 52

@ 42,18 ®485

© 366 %)
Hints: 42 1724, 36 49 IR 12 F offey (oval 4) &
O 52 7, 12, 18,36,30 T 9 offew (oval B)

Key To Govt Bank-2
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T . :
Q. (53 - 56) : Answer the questions based on the following mfomu.mon. e
ABC Ltd. produces widgets for which the demand is unlimited and the.y can sell all of
| their production. The graph below describes the monthly variable costs incurred by the
company as a function of the quantity produced. In addition, operating the plant for one
shift results in a fixed monthly cost of Tk. 800. Fixed monthly costs for second shift
operation are estimated at Tk. 1,200. Each shift operation provides capacity for
Producting 30 widgets per month.

7000
6000

5000

4000

iable Cost

1

|l
— |

1 6

n 16 21 2% 31

Quantity

36 51

41 46 56

gzte&é\lfrage unit cost, AC = Total monthly costs/monthly production, and marginal
9 is the rate of change in total cost for unit change in quantity produced.

53. Total production in July is 40 units. What is the ap|
@ 3,600 ®%

Hints : The averge cost for 40 units would be

1200)/40 = % =150

proximate average unit cost for July?

©140 @ 115
&tven by (Total cost/No. of units) = (4000 + 800 +

54. ABC Ltd. is considering increas

marginal cost of increasing prod
@ 110 i

ing the production level. What is the approximate
uction from its July level of 40 units to 41 units?
© 150

8raph is almost q straight line between these
productions from 40 units _ 800
3

=130 approximately.

LearningHomeBD | http://bit.ly/job-sol-app

56. Suppose that each widget sells for Tk. 150, What is the profit exrmed by ABC Ltd. in

T T T ——

Phofesson's Key To Gavenament Bask Job1 111

July? (Profitis defined as the excess of sales revenue over total cost)
@ 2400 ®1600 © 40 @0 $
Hints ¢ Tt is known that for 40 units production cost is 6000 art at 150 . per unit, the total
11 revenvgould also be 6000 Tk. Thus the total profit would be O, Wed & F
Q. (57-60) ; Answer the questions on the basis of the information givetibelow.  *
A map représetiting countries ; S, W, X, Y and Z is to be drawn. Adjacent countries

cannot be the same color on the map. The only countries adjacent to each other are s
follows: '

*R, S, Xand Y are each adjacent to W.
*X is adjacent to Y.
*Rand S are each adjacen to Z
57. Which of the followin; ghapahoimﬁu&atmm\bed‘ﬁuﬁ\t"_‘l'l\m\uimn\udwﬂ\tﬂ
@RandX ®Sand X ©SsandZ @ XandZ
Hints : As S and Z are adjacent, they must be different in color.

58. 1f X is the same color as Z, then it must be true that . x“ -
1 @R ig'the same color as’Y ® SisthesamecolorasX ="
gxsmbmm\mmv @wqum_tm\ogfgmmymm
' PR, $, X ard Y each are adjacent to W, so W cani iot b the same color as X, s x s the same

mlorasZ,Sannnotchnsumzoolorqutoo.SoWisdi}faemjrommyothercoumry.‘

59. Whichofthe(&llowh\gisapairofwun\riesﬂutmbeQ\gmefob}{?seach?}}:e!ﬁ

@RandS ®Sand W © WandX @Wan‘dY

Hints : R and S are no adjacent. 3 i
60. Whid\oﬂhefollowingwm\uiesmbethesamemlotaW? &

®R ®s ©X D Z

Hints : Z is not adjacent ot W. s
Section-D : Mathematics (10 Questions) 1X10= 19 !g
k- 1- LRt (A 4 R yoanitol g ¥
@z, (61-74) Choose the correct answer, , 1, = 1 ¢ v »
?:cé&w nt, father's age is 4 times more man&\a\oihusq‘n,agryea‘uapmm&' V‘Ah:gc
w" () esm&ethan of his son. What is their present age 40“10
ﬂa?:uyeaﬁ \é‘:l\d‘iym © 32and 8 years @ o yws
Hin\s:th,Faﬂwr’sugcbeFandwn’saggbeS .
F=4S : 3t N
and, (F-6) = 10(S—6) &3 v300
=45-6=105-60 :
=65=54
5=9,F=36 -
67.lftthﬁeeoianilemisi:masedble%andﬁmdemmdbylﬁ“@,Mn
on the price of the item i '
an

§ el A 1o

of1% © adecreaseof 1% @ NoChange
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Hints : Lets say, price is 100 Tk
10% increase, sp = 110tk
10% decrease, sp = 110~ 10% of 10=110-11=99
“ Net decrease 1% h.
63. A train 120 meter long is traveling at a speed chl Gomon =
PAass a passersby, walking at 6 km/h in the same dire:
@ 8sec ® 6sec © 3sec

. 1000, -1 _ 100
Hints : Train speed is 60km/hr = 60;000 =76 ms’!

The time in whcih it

@ 9sec

10
The person speed = 6 Km/ir = gogg - 7 Zms!

So relative speed = ( 100 %)ms' =15ms™!

Now, s=—[speed— dzstance]
time

:15:#

=t=8

64. The present ratio of students to teachers at a certain school is 30 to 1. If the studem;

enrollment were to j increase by 50 students and the number of teachers were to

increase by 5, the ratio of students to teachers would then be 25 to 1. What i is the
Present number of teachers?

@ 12 ®15 ©s @10

Hinls:%=3 and301+50 25

Now, 3!?:’:550 _ %
=30x +50 = 25x + 125
=30x-25x=125-50
=5x=75

o x=15

65. Whichofﬂlefollowingdescxibesallvalu i ’
es of x f -x2
@ x <lorx > ®x =1 ©~lmw}ud” e Q)
Hints:1-x2 39 Dt
=x2-1<0
=2x+1)(x-1) @
The roots are

LearningHomeBD | http://bit.ly/job-sol-app
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67,/ The average of two mﬂbemp 2. 1f 2 is added to the smaller number, the ratio
0 petween the numbers becyms 12, Tl\g smaller number js— # 4

Hm's let Thenuryber&bexandy x>y .

;:/—‘—r- 62 f L

Xy

2
=x-\- 124 *e,
?24 A

=>2(y+2) X=124~y
=2y+d=124~y
= 3y=120

=

_Xt6 !

x”, ﬂimwhahsihevalueoi Q?
—6 oider i

XEFTL @

x -36): (x+6)(x—6)1,
“““’" (a749) (x+7N5),

x+6
"x+;7.'r:i Yilsovo fesgual by -
ot R (I+5J(£‘<6)§1614~7) x+6
e Q (r*ﬂ)(x,v?) (x

Hints: PQ2 + PS? + QS?
= Q52 = (2602 (24)2= (26 +24) (26 - 24) 100 -
= QS \100=10 - /
D% L ORZ10%2=20[ - 08 = SREQR = 208]
70. In the figure below, the value oi yis
@12
® 2
©2
@ 36

fos ot Yo iy ey

Wnsrmygois
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83; Whichone qﬁﬁmfoﬂomngh 'lasﬁl'ﬁhdermoney“; o N = I
141l Professog's Key 10 Government Bank Job — Cheque ® Credite Cara . OFains .- @ Debit Card »
% :i;x‘s s 180 ’Lw‘\ w60 Ak w7 . (ghmh o the smallestdisrit in Rajshahi Division? :
s g Joypurhat ® Naogaon - i : ;
Sx=180 * n i - Vaoga: © Chapainowabgorj @) Natore
i # w1 T wb x“’09 2 ";1, 85. WhAOV[\_';Sh;henmnceMmmbrdnﬁngouﬂiberaﬁonwain 19712
Again, RS ot o("/L- ‘ ® AHM, TR, i s ®:Captain M. Mansur Ali
v+30=2272 " vy = ¥ © SyedNazrullglam .- @ Dr. Kamal Hossain
Sy=4 . 86. Who is the regulator for Micro-finance institutions in § i
i i 20 =2( ==y B: desh Bank ki :
m—— Section-E : General Knowledge (20 Questions) 1x ® Ban ,&‘h Ban @PKSF i QDR . @MRA
Q. (71-90): Choose the correct answer : o 5 - 87. When did Bangla, L
& | 71-"In regard to noble.prize, which one of the following is not true? ® 1973, 4 1974 @ 1975 .
: @ Malala Yusutzai is the sixteenth woman noble prize winner 88. Queen Sofia belongs to— .. .. . i : S o et
@MaIaJaYusufzai'lsanoblepﬁzewinnerinpeaCE Spain 7 ) Eovrt NN - e
© Malala Yusufzai is a noble prize winner in education ® p g / 0 ®.E5yvpt' s, ' (© Britain @ France
; @ Maiala Yusufzaj is the youngest noble prize winner 89. n’h:e:!;s :ihe f;nt Bangladeshi presiding over G 1A by ion of the
72." "Eboly’ has not spread out in epidemic form in which of the following countries? i ¢ INations iy b s P ORI .
@ Liberia ® Sierra Leon © Guinea @ Nigeria % AS “‘Mu‘v Al 2t Y el %g"‘“’]w}"‘m;“}“d Chowdhury,
73., In terms of GDP, which one'of the following is the largest economy? i ) P RS TR e, e : SR a
TORET ®UK . © China @ Australia 90._ The book "Glimpses of World History" was waittenby—~ ., Yt
N . Rabindranath Tagor £l Marx
74. Wluch of the following companies has issued largest ever IPO in capital market? 2 ? o o © Jawaha&lal Ne_hm @ Kesl M § :
® Google Al Baba © Microsoft @ Black Berry i P Section-F : Bsic Computer Knowledge (10 Questions)1x 10=10 e
o\ 75. Wluch of the following countries js the highest emitter of CO,? Q. (91—100) : Choose the correct answer, - i MR RN Wi
a ®UK © Usa @ Germany 9 91. Ahard disk has the storage capacity of 500 GB. How many bytes of informationit can store?
76. The foreign exchange reserve of Bap, ladesh Bank at th; @ 500 x 2% bytes - (® 500x 22 © 500 % 22 bytes @ 500 2%bytes
What is that level? " otk retonldevel Hints:1KB=1x20Byte, .. , -, -yt zod iR
@ $20 +billion ® 521 +billion © $22 +billion @ $23+ billion «AMB =1 x22 Byte AR5 08  See et daens it gy
J 77. C:)Vl;‘ch one of the following s not 5 central bank? 1GB=1x2% Byte [S0,500 GB = 500 X2%Byte]. .\ ()
J tate Bank of Pakistan < 1TB =1 x240 Byte Toug e
/ © Central Bank of Sri  an @ BC oo of i . WG Ll 200
( 7. Whi . ) ank of Englang 92. When you start your computer then which component works s o
3 @F::;p;ﬂns associated w:th the Da‘n'sCup? 7 @ BIOS ..+ ® Processor S © Hard Disk,, - @ RAM . =
. a ® Tennis © Cricket ® Horse Ragt Ji_'r\l.ﬁl!*‘? + Even for the BIOS ta run its instructions, processor is needed so processor always, goes
79. l;Wuc,h of the following js a affiliate of the Internationg) Bank of R e first. But software wise, BIOS is first. Without processor TUnS.No program start on computer.
evelopment? Of Reconstryct; fad ' )
e, —_— ction and 9. A CD-ROM drive is labeled with 52X, Here Sz)gis“a:measnmmu‘\t ettt i ®
80. Which of the fojjo © UNIcEr @ IMF @ Data transfer rate ® Reyolution per minute © Capacity of the CD . @ Time required t

Hints : X means in speed in terms of CD ROM. 52X means it is 52 times faster then i,
speed of CD-ROM ismeasuredinReooluhbnperml’nute (RPM), .
94. Maximum number of rows in an excel sheet are e b Mg 3
@65632. . .. . ©65535 .. © 256 5, @ 65586 - ;.1 “H
Hints : 65,536 is the maximum, number of spreadsheet-rows supported by-excel: 97, Excel 2000, |
Excel 2002 and Excel 2003. But in Excel 2007, 2010 and 2013 support 10,48,576 rows. |

. © Turmer;
81. Which of the following ; e @ Sugarcane

ibe mainly Jjyep @ Typhoig
an
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in Ms-Exce

95. Suppose the value of C:“ E/S,“\‘Nha( ilbethe result?

\‘ =IF(E5<20000, E5*10% E5*20%): ® 0 v‘

O g:4 1a = IF(E5<20000, ES*

© 350

T ey £ S ltiply the b
Hints : We pu o alue 3500 n E5 el T s hen 20000 i tre Hhen multiply
0, ‘V e e n E5 5165 B » value in E5 with 20%,
E20%)., This formula calculate if e el ply the '
ES5 i.e, 3500 with 10%. But if the mndmtzﬂ ls;]o’»’/)=350< ’ 3
3000 is less then 20000 so we multiply (3500 o ST Y
- 5 in: la“guages 1sn A
96. Which of the following programming ®Cr .
% o o RTRAN, Pascal, C)
g include : FORTRAN, Pascal,
Hints : Popular High-level progranming languages f;‘::‘WM‘K’;:;:”; p— é
Java, Python, Visual Basic, Delphi, Perl, PHP, Ruby, ]

(SQL).
Oracle is a database program and a type of structured Query language Q

97. Which one of the following is Utility Software? » b
@ MS-Word ® McAfee © Windows ‘ e
Hints : Utility software is a type of system software other than operating system. Utility saﬂu‘ pare
usually focuses on how the computer infrastructure including the computer hardware, operai
system, software and data storage.

Utility software categories : Anti-virus, Archivers, Backup software, Clipboard managers etc. Mg
“ affee is a type of Anti-virus, So its a utility software. < 0N
98. Bluetooth operations use—
@ Magnetic technology

® Optical technology

© Radio technology @ Laser technology

Hints : Bluetooth is a wireless technology standa

1d for exchanging data over short distance using
short-wavelength UHF radio wazes in the ISM band from 2.4 to 2,485 GHZ. ¥
99. POST means—
@ Proper Operating Service Terminal ® Point Of Sale Terminal
© Post Office Sale Terminal

@ None of the Above
Hints : In computer term, POST is one of many request methods g
: ‘ upported by the HTTP
protocol used by the world wige web. POST is o Tequest method name o in nbrwi:tyw form.

i ough submarine
llowiny sub,
Bangladesh? 8 Submarine caple Networks js connected with
@ Southem Cross Cable
Fi

© C2C North Ring ® Slé:id -
Hints ; Bangladesh s connected to the yyor)q internet Services thyoyop . -
named SEA-ME-WE-4, Recently Government doeig I 81 submarine oy network
SEA-ME-WE-5. Join i

h another Connection nameq

L s

—
e
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Ti ‘ H Marks : 30 i H 1 03.05.2014
e me %43 Hours; Marks :'300; Examination Held On : 0
‘ : : doc o ‘
2 Time: - Marks = 10
ART ONE : Multiple Choice Questions (MCQs); Time: 1 Hour;
P/ I ol

er)
X for each correct answer and 0.25 to be deducted for each wrong answ
(One mar: f

Rl
s, ‘BT 60 OF IR

AT (57 N
O @ orRMmR T @ T ® ,
%inmmv::wWWvﬁmammmwﬁ: _
@D *Rew?
¥ @ @ ® B

e @i A e 2o

i eI, (AP, o, SRR | P »

%:mmmmmw Wmmﬁmm AR | ‘

AP R BT TS o ‘

) c-;:;g%m @w-mmﬁ@/ﬁmm;ﬁ
Qmﬁ?ﬂﬂﬁmﬁww-xmﬁma.mﬁvm: ::%E:aq mﬁm m:w-
Ha::m:m>m&wwm$ﬂqﬁagwﬁ:%ﬁmww ﬁm‘wm‘ 7
MMWWWW:Q R : ARt
b~ @ P ® e
®‘mmwﬁﬂg:‘f‘;‘wwwﬁm-m+w+w+w=w§4‘
Hints : &X y : -Vt

¢.” R ale T w7

Al et ® , A |
@ ﬁm@) W.mv k
£ mmwﬂi‘:ﬁwwaﬁﬁmﬁvfﬁiww
. v e @ @

@™

oy e S— ot R T s A
Hm“wwgqga%mw“%mwwm/ \
e o e, 0, S, 15 R R
Q, Txmﬁmﬁmﬂ'ﬂ;ﬂ : & S ! \{ ‘
%i:i‘:‘mslimﬁon-m A vfﬁwm i

"
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Y. ORI ‘B SR i 2F TR IE ;
?WFWW®WW%@W@ ®ﬂm@m_ A @m’ R oW -t
ints : 7 A g T N | <8 ST R Cofe Hifits | G @ oo A :
& mmﬁgvmmmmmwmw» ‘- RN =% o | i mem ey rL
5. wm— ‘. {3 . .
. ‘CeTel B B ;
gv:qmww W®WMW@ﬁ ®mwalg ém @R @w gy oY ol
nts : E E S T4 PV O 5 lae =i : ;
| Pp—tdy AT : @w?mmwww:mmwmmmmm,
® s - @wW @ ® fm il S—— g lish

)it_ecﬁm : Select from the alternatives, the word that is most closely opposite in meaning to the word
toen in capital letters (21-25)
1., DELETERIOUS ~ V1S F<(th ™

@ impulsive @ salubrious © pathetic @ inclusive

Hints : Deleterious — 4 W | impulsive — S SIES; salubrious — TG,

Hints : /577 g 710y o, &7 0% 97 7 (T, S S 4 G, T, St | ¥,
R 310w 3t 7 o7 31 el | SRS STRGIIR 0 ST, @F & R < O Y A
33, TR AR 51wy arg— sl

@ o T v @ How @ AT 7 @ TS O AR 2

mgﬁww@wm I 73 Y (3599), T OF IR F7 (39brtr) .
s Mt b ikl pathetic — ¥ inclusive — TP | TSR Deleterious- <Al (7RI T (v) salubrious.
&\@”@,ﬁ; ko 22. USURP ") @/ :

@ e ® awire # @ tise rapidly ® usefully " © produce quickly ‘own rightfully

Hints : Usurp — 54 G2 738 31 | vise rapidly—r® QTG BT use fully— o T T,
modumqutuy—wmmwr;mﬁgwly—mmwﬁmw:waﬁam(a):

" 23. DISCORDANT — (AR
i harmonious - @ separate

1 e hﬂS}\ @ dxfferent
l@!inls . Discordant—S¥ (AT, ST | harsh — ¥4 different— fafes; harmonious—7T;

Ww_w:m@x@sm ©!

indifferent (® compostre interest
ic?inlszlnsoudmwe—wmlindw‘erm ®wPA | composure —

) @ e
: Hints : & 17 o4 wre, emifie, «ait 72 T Ete 391 TAE <, TS |
: >\°-\@%«ﬁmmﬁmﬂmz@w B @rRm?
2 e @ @ = © St
: ints : CIIPDY (3 oy R as, @ ovea- oF e B RS QR |
|| 38. _aﬁ;qw—nﬁvmvﬂmm_ '
) @ Fe-m @ -ffen
Hints : F&079 37 7 if7e ’ © bon
N I m::? RIS 1791 ‘31’ 558¢ 07 o e 237

@ slumber A
SIePTRAY; interest

®@ cmIfER
Hints wmﬁﬁw@)@% & o @ TR oz, slumber— gl | JER A B (0) !
P17, T 1w ,Wesw@mwm’mm - ;
4 w7 g wrd 25. GRANDIOSE = ST e
d%. The window pan s @ tious ® brilliant © egoistic modest
panes steamed up, 43 TR e 4 PPEEATTORS : o rious — STfGAA; brillint — SRERIT,
@Eﬁ[ﬂﬂaaqﬁmm' o }hnts:Grmldwse—WWW‘ﬁ; | pret B (d) yodest | %
‘@fmwwﬁmmml @Wﬁﬂmwmml . : 3 egmsm__waﬂ modest — W,mlmﬁm’ﬁ”ﬁ”a P 0 ({ . £ n
SR 35 Bae 2 | W i Direction : Select from the alternatives, the word thatmnveysthem:meaningast}w‘word‘gmm

_ capital letters (26-30):

i i B lethargic © boring @dxs;:esid s
S fints : Indolent — o we | casual — e, lethargic — S g — R,
disinterested - /mmwmmmwnmrgm
- 27. HALCYON e
3 urminous @ gentle © mo acchul R
3 : ?{)i:\ts‘:ﬁalc'yon——wml luminous——m;rgenﬂe——w motwnl&ss !

S, 1S | FoR o T (@) |
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28. VENERATE @ accuse
@ defame @ abuse ©Wm§tabw.— IR T, respect—

Hints : Venerate — 9 21 1 | defame —
A F; accuse — crrarel 91 1 7o e B () 1
Qallos =~ @ e

29. OBDURATE
@ careless ® contrary _ "
Hints « Obdurate — i &96c8, 1Y | careless — F1o% : contiiry
callous — SHEE: stubborn — GG 1 7oA T 5% (0
30. ENIGMATIC
@ pithy ® puzzling © complicated @ '""swf_ mﬁww
< ot e e 1 pitty e puzzling

Hints : Enigmatic —
complicated — &foeT; illusive —

Direction : Choose the onie that best expresses the meaning of the gtven id
Parliament in the teeth of opposition.

amm/ wmm@ww) /
iomjphrase (31 -35):

31. The Bill was passed by the @ assistance
@ in the face of (® by force of (© cooperation T
MAS Sf"fi /
Hints : In the teeth of opposition — Eﬁ’r’j’fﬁ"lm J In the face of & W!
G &S (a) |

32. Ihave a bone to pick with you in this matter. i
@ am angry ® selfish motive ~ (© selflessmotive
Hints : Have a bone o pick — @m@w@mmmwm’mﬁmWW)
phrase BT meaning 2 (a) am angry ( ) /

33. He was in a brown study and did not seem to catch my point.

@ in his study room (D) absorbed in reading © absent- minded @ in a state of shock
Hiints : in @ brown study (4917 75}, 7))~ 1% T () absent - minded (SE) |

34. Harassed by repeated acts of injustice, he decided to put his foot down.
@ @ not to yield (® resign © withdraw @ none of these
Hints : To put his (one's) foot down (75 367)-4 FI4® 27X (a) not o yield (el T

Ans. IR ALY
35. They set the two friends by the ear and then enjoyed the fun.
m (@ made friends (@ to provoke to quarrel ©) to bring in agreement @ none of these
Hints : Set by the ear (37151 TR G767)-<1 1 T (b) to provoke to quarrel (¥91GT8] B 371) |

Direction : Choose the one which best replaces the highlighted phrase (36 - 40) :
36. The man who has committed such a serious crime must get the mostly severe
punishment. X
@ got the mostly severely ® get the most severe
(© have got the most severely @ noimprovement
Hints : Q0% get the mostly severe 79 5% Wz, e
must GF 797
“get’ ZEAR <R ‘mostly’ Adverb RET severe (ad)- P verb Wpresentform

LearningHomeBD | http://bit.ly/job-sol-app

B - e

Professor’s Key 10 Governmient-Bank 3ob Il 21
g topl ywﬂnumngﬂ\ebuxdownﬁlesm T |
: : threw " © didthrow . @ noimprovement i
Blints : Sentence: hmwmmmm m/mwﬁcma’mm Ladl
sooner had be entered the roorh when the lights tmnandevefybod)'bh@“mmm

hen the lights went out than the lights went out
d thehghfswe\tout @ then the lights went out ;
34 . than’ &5 78 structure ma@a@mwmmhgﬁbm""“

ator had been left the auditorium bef:gﬁfe audience stood up. 4
@ no improvement

.ihadbeenleﬂ ® was left had left
ts 3 The orator T4 subject | AE&E auditorium @t FCARETA T verb-«ﬂ?lacuwfom

Im:rﬁzm(c)mmi Ea

feel very proudly that their team had w match. ?
feels very proudly ® felt very pride felt very proud @ no \mpmvm\ent

7}lmts Sentence- 159 757 WP QeI Past Indefinite- T | oY felt T 4R feel , verd
R AIRDS adjective T T (c) fet very proud-2 TOF $&F.1 _

General Knowledge__-—!-—____g_g :

‘Where is Australia did Ca Cooklan;‘:g/

'@ Great Barrier Reef ustralian Bj BotanyBay @ MoretonBay © |
“Hinl @maﬁ?mﬁwnqomqawﬂwm@mﬁmmm
7 BT AT ATE G R TS PR | S
1 ST APETS! Glo I |

2. Inwhich country did the Mau Mau uprising (1952-60) occur?
- @ Uganda enya © Nigeria
Hints : :wz«m@wmmmswmwm@mmw
e e Rerd RS ©

sinRE AT TR A TS TG R’ TN AT | 3
AT SIRPTIR TG FRER S0 ST 9 REGIRS ST a5 |
43. In the CAMELS bank-ratj gsystem,thelctter’A’standsfor $ &
@ Average quality ‘Asset quality © Adequate quahty @ Annual quannw
> Hints : 3% D¢ FUST CAMELS 10 Feis
- C=Capital Adequacy
A=Asserquality {
M = Management quality s
.+ E=Earning < Y v s ‘v
L = Lequidity )
S = Sensivity to market risk., .
" sy Gl M A el WIS Asset quality < S |
44, Who won six consecutive Wimbledon singles titles mthemsog/ ¢
©ChnsEvert - MarlmaNavmnWa
Beve <o RS | |3
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| 45. The highest tunnel for hjgh-speed trainintheworldhasbeenm‘;;%
1 @ Japan China © Russia @‘WW @ I
Hints : 57 Bgg .mel@wﬁmmmwﬂﬁ?ﬁm/

THE 517 T 1 8 Breacerd 0 & B AT 3.0 [ 6 0v09.8 FE

46. The Declaration of Independence in the USA was writ'len by: A ]e“emn
@ George Washington (® Abraham Lincoln (© Dwight . Exenhorwey

T CERPPT | JTS G AR Soft AeyT TATOH T
| T I 1 77 G FHAG AT 1T (TR | poweris:
| 47. The ofily country in South East Asia that was never colonized by a E“’O:;an
g%fﬂand ® Nepal © Myanmar @B%WHWW
ints : 799 AR 7Y AZIS, A PR A G GATT
: & T S T JT § | AFeST o A T W |
- | 48. The European Central Bank is based in : i
@ Brussels Frankfurt | © Maastricht @ Pm@/@wmyvﬁ
Hints : 79 380101 G T1 1R “TSca’ Sioemeerey ey SIvoIery fied Lk
The European Central Bank (ECB) IS5 7 | fbe 77 e Snafian g’

; 49. The series of sketches known as Famine Sketches’ was ddr:Wll by: ? u] i
: @ S.M. Sultan ® Kamrul Hassan ~ © Qaiyum Chowdhury(@ ﬁ‘ e
Hms:?ﬁ%wm'wmm&wwmmﬁwmﬁm;m /
G FETFT cerms fof7 @3 qrariRe faw wee wuw I : FARET
TICF-8., e8I, TAZRI-0, FZH! FS el T Al Sy ot
s ‘Bourse’ is a European woyd for what financial mechansim? -
@ Foreign exchange market (B Stock exchange  (© Commodity market @ Deferred paymentsq
Hints : Bourse /%16 Y7 QP 2 ©e | b o7l 3ee7l il i 31 w1 3PP 38c
Bougse’ XI5 “BF THBG" o Sl R IR G |
< TheXighest mountain in Bangladesh is :

& Mowdok Taung (B Keokradong © Muripha Taung @ Reng Tlang
Hints : I TG e 7 e @ifere @ ) 17 7 779 e 31 7 g | 07 3,05
FI01 1 O 3,292 B | 6 TR e odiEe |

l\ 52. Which is the financial centre and main city of Syitzerland?
@ Lausanne ® Beme Zurich @ Geneva

53. tis the name of the ancient Roman city that was destroyed by the eruption of the
volcano Vesuvius in the first century?

Naples ® Pompeii © Rome @ Florence
,Hmmmﬁamww@ww%@mm@@mmmw
wﬁmmmwlwewmwwﬁmw’vwmwmﬁ/ T o
AT T RIS o G |
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memEﬂmshﬁe'ﬂlatisﬁeaiesttoﬂl'e'fo ;,,g.,,,. fonis's: 2l e ai L[

o @ Washington, . ' ® Hawaii:: - 7, = e
Hints : FS9G7 T SOP3 Nw Chfezare 38 e | 45 TS G,
WWW@W’?%?WWNWW%%WZ;&;N@%@: 4

55. In terms of Muslim population, the rank of B desh is : o
@Second . (® Third Fourth @ Fifth M
Hints : P71 Rey SR fo fry sty sager O | I ST (38.55 (D),
T AR (35,33 1), b w3z (s 9,00 ) <% S AT (6.0 RB) 1

56. The Italian explorer who is said to have discovered Ameﬁcais:..:'. ‘
® Da Vinci - ®Cortez © Cara'va'ggio\'
Hints : PT07 3853 AT @benfoe wgmiog wfoarsy woy :
mwﬁwwwﬁmww/ﬁﬁwmmsmmﬁw@m.mmm
< T IR A5 sy vy ittt Gh ey sl 5 18

57. The Bangladesh born UN Lifider Secretary General for Field Supportis: < 1\
@ Asma Jahangir AmirahHag  © Irene Khan, @ Niloufer Nina Ahmad_ | ¢
mm:mmamw@wwmﬁwﬁmw/ﬁﬁm !
RSN M09 G417 RO 2033 1773 3 7 AT 1) G T o s |
FAfSs] ePq g e weafezer ' o 15 1k

58. i canal is known as the ’Highway to India”? % - '_ Ly

SuezCanal ® Grand Canal | © Indus Canal @ RaviCanal -

.
59. In which city was Martin Kither King assassinated in 19687 .
® OKlahoma - - - Memphis © New Orleans ‘@ Phoneix

TG AIPT 30 eIy e fige 27 esiton s
60. The free trade area comppising Argentina, Brazil, Paraguay and Venezuela s called :
@ CAFTA MERCOSUR'  © COMECON @ SACU .

WWW@W@?W/ ¥ :
RNy Basic (?'uter Knowledge Emimmrmsmeswsmmmnmn

Hints : MERCOSUR 3ee1 ceifay, Jifér, VRIS, SFGT R SAGEIT T 1S

S

61. IPV4 address is ¢ -y
@ 16bit 32 bit © 64 bit @ None Y
62. A hard disk is divided inj6 tracks which are further sub'divided into: Fo

@ Clusters © Vectors '
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"] 63 Which one of the following represent the binary eq

| @owon 10111 © 10011 @ None
64. The last address o! dd t

P

ivalent of the decimal number 237¢

¥ @ Unicast address (® Network address
P ! Broadcast address @ None
h" 65.” CSS is an acroynm for
i Cascading Style Sheets (® Costume Style Sheet
‘ © Cascading System Style @ None
i 66. The machine readable form of a program s called as? :
E.‘ @ Source code \® Object code © Executable File @ None
i‘ 67. What is the use of Forms in HTML?
E- @ To display contents of email ® To display animation effect
; f To collect user’s input @ None
68/ A computer port is used to

@ Communicate with hard disks (® Download files

/@ Communicate with other computer peripherals @ None
-| 69. SQL stands for .

@ Structure Que;

ry Languag St
© Standard Query Linguistics o N::: S ;
[Note : SQL stands for *Structured Query lllréfge'l

| 70. Whi i
; Which of the following is not in OSI model?

105=3x5x7
1001 = 7 x143

and 2436 =2 x2 x3 x7 x29
__T_henjbre, t}_uif{.C.I-‘cho@ 1001 and 2436 5

k T T e Ao e e e o

LearningHomeBD | http://bit.ly/job-sol-app

@ Physi
ysical layer Internetlayer @ Transport layer @) Ni
. one
Lo DN R ——
: A T E
71. 0.01 ls] what percent of 0,17 S T
@ 1
> 00 ® 15 10
ints : Let, the number x g
S0,xx0.1% = 0.01
0.1
=xx 100 =0-01 v :
L x=10 : . A
72. The greatest n,
umber that exactly djy;
ly divid
l@{?: ) es 10% 1001 and 2434 g
ts : The H.C. "
CFof 5, 1001 and 2436 5 o2

i Proafec
¥

's Key T0 GOVERNMENT Bank Job |1:25 | o

73. The average of ghgjtﬁo-digit numbers, which yemain the same when the digits
interchange their positions;is: . - \J e
©®n Sl G Ou 5 o
Hints : Same two digit mumbers are 11, 22, 33, 44, 55, 66, 77, 88, 99
11+22+33+44+595+66+n+as+99

- Average =;

=455 )

74, 1f the compound interest on a sum for 2 years at 12.5% per annum is Tk. 510, the

simple interest on the same sum at the same rate for the same perjod of time is :

@ Tk.400 ® Tk.450 © Tk.460 Tk. 480

Hints : Let, Capital is P tk

'In compound interest ¢ = p(1 + )"

So, interest =p(1+1)"~p

According to question, ~ p(1+n)"-p=510

, 125V _
=op(1+—m-) -p=510
=p (11252 -p=510
=p{1.125)2-1} =510

. [k
~p=ang = 192018tk

iterest, I = pnr = 1920.18 x2 x0.125 =480 tk
five percent of a number is 21 less than four-fifth of that number. What is the]f\umber? :
1407057 ® 142 4 © 144 @ 145

Hints : Let, the number x
According to question, =~ X x-l%% +21= %X
4 2 65)(1(—)0 80x -7
‘=—15x=-2100
~x=140
76. Thy/difference of two numbers is 11 and one-fifth of their sum is 9. Find the-numbers?
28and17 ® 28and 18 © 28and 19 @ None of these
Hints : Let, the number’s are x and y : ¢
[T TE § — (i)
Again, -};(x +y)=9
.. (i)

(i) + (i) = 2x =56 and (i) - (ii) =y =17

Sx=28

Key To Govt Bank-4
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h a way that A gets Tk. 7 more than
77. A of Tk. 53 is divided among A,
sum

gets. The ratio of their shares is:

C
what B gets and B gets 8 more than what 25:10 @ 15:8:30
@16:9:18 25:18:10 ©18:¢
Hints : Let, C gets = x k,
Bgets = (x +8) tharll
Agets=(x+8+ 7)tk=(x+15) tk
Aa‘ordingtaqwsﬁon, x+x+8+x+15=53
=3r=30
ax=10
So, Cgets =10 tk
Bgets = 18 tk
and A gets = 25 tk
The ratio of their shares is 25 : 18 : 10
78. T’heaverageoftheﬁxslm'neprimenumbexsis: -
@9 ®1 /29 u} @ ng
Hints : Average=2+3+5+7+11+13+174/9+23
9
=100_,,1
=9 —119

79. Two workers A and B are engaged to do a work. A working alone takes 8 hours more
to complete the job than if both worked together. If B worked along, he would need
4.5 hours more to complete the job than they both working together. What time
would they take to do the work together?
@ 4 hours ® 5 hours 6 hours @ 7 hours
Hints: Let, A and B can do the work in x hou;
o they together 1 hour can do the workin X Portion
Again, In (x +8) hours A can do 1 Portion
SoIn 1 hour Acandp a5 Portion
According to question,

) . S, |
x+8 " 15+x X

1 2 _1

81952 ~x
9+2x+2x+16 _ 1

S0+ x

=42+ 250= 90 + 2024 72 4 16¢

=202+ 25¢-25x =7

=12=36

=5
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0. 164 =1+yZand ¥=1-V2, find the value of ( + y2). °
6 . ®8 ©10 @n

Hints : Given that, x=1+v2 andy=1-+32
S0, X2+ 2 = (1+42) +(1-42)?
=142¢2+4241-2y242=6 :
81. A man can do a piece of work in 5 days. But with the help of his son, he can do itin 3

days. In what time can the son do it alone?
@ 65days ® 7days 75 days @ 8days
Hints : Man can do in 1 days =1 Portion

Man + Son can do in 1 days =1 Portion

Manmndaalanemzdayn(%--‘g)}’mm =L portion
2 Portion can be done in = 1 days '
a1ole) ., , =Y days=75days

82. Thexalue of JID+J7.S+1}108+4154+1/E is:
4 ®6 ©8
Hints : J10+\,25+Jlos+\/154+~lﬁ

=JIO+J?5+\/108+\/154+15
=\}10+\l?5+\/108+13 =+104v25+11 =«110+6‘=4

83. Ifax=b, by ="cand ¢ = a, thén the value of xyz s : » h
@0 1 @& ' @ax
Hints:a*=b 3

=loga*=logb
=xloga=logh

nx=logb
loga

3y _logc . _loga
“similarly, Y—Egl—:"z_ Toge

Kk loga "logb "logc
sxyz=1

84. The simple interest on a sum of money will be Tk/600 after 10 years. If the principal
is trebled after 5 years, what will be the total i t at the end of the tenth year?
@ Tk. 600 ® Tk.900 Tk.1200 - @ Tk.1500

@10
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- 9. To fill a tank, 25 by, -
28 1| Prot 's Key 1o Gov 1 Bank Job f g ﬁllﬂ\eumemﬁ;ifmdw.hhnqm'ﬂwm buckets of water will be required to
Hints : In 10 years simple interest is 600 tk. o @1 PiCliy of the bucket i:?zh two-fifth of its present?
600"5 =300tk 625 @ None of these
WigB @ w » = \ Hints : wcamwwfﬂnebum.sxzmer
If principle is treabled interest will be rrebhd ) : | So, capacity of tank is 25x - _
In next 5 years in interest = (300 x3) tk =900 \ uced ibyof bicket i _g_x_ ; 3
So, after 10 years total interest = (900 + 300) tk =1200 tk ler mumberis ‘ Ry tyof Pk Fond ' 3 a
5. Ifthe sum of two num%erlszls Band theudgﬂ];“‘e K15, the =5 | So, to il tark bucket requires 2 T =BX5 ) S puctet : d
4 i T i
presmi o 50, How many digits il be ther o e right of the decimal point in the product of 95.75 pr
g to question, -~ o
gx £ y=33 o (i) again,  X+y=. 5355 (1) and 025542 H
sy=1B o (ii = vl @5 s ©7 @ None of these

(i) + (i) = 2y= 1
~y=9

(i) + (i) = 2x = 48
Nix=24
So, the smallest number is 9
86. In arace of 200 m, A can beat B by 31 mand Cby 18 m. Inaraceof350m,Cw1[lbeatBby
275m ®25m © 195m @ 77"‘
Hints : Let passmgdzstanccofA xm
’ , B=(x-31)m
, C=(x-18)m
x+x—3]+x—18=200
or, 3x =249
woxe=83
. A=83mB=52mandC=65m
.. Cbeat Bby =(65-52)m=13m

In race of 200 m C will beat B by 13 m
A w a30mC , B =I5 maz275m

_| 87. If 18 pumps can raise 2170 tonnes of water in 10 days, working 7 hours a day; in how.

”

And " "
According to question,

many days will 16 pumps raise 1736 tonnes of water, working 9 hours a day?
@6 7 ©38 @9
Hints : 18 pumps aise 2170 tonnes in 7 hours in 10 days
8 , ., ., 220 , ,1, ,10x7,
1 o+ o w 1 4 a1 10x7x18
® LT N;
% . . . 13 , ,9, , M0x7x18x173 _

2Wox16xg = 9ays
88. An article when sold ata gain of 5% yields Tk. 15 more than when sold at a loss of 5%.
Its cost price would be :

Tk. 150 ® Tk.200
Hints : At, 5% gain, selling price = 105 Tk.

ain, 5% loss, then selling price = 95 Tk.
Ag 3

.~. Difference of both price = (105-95) Tk =10 Tk
Selling price 10 Tk more than Cost price = 100 Tk

LearningHomeBD | http://bit.ly/job-sol-app

Hints : As usual the number of digit to the right of a product of decimal system is the total
number of digits o the right of the numbers. Here to the right of decimal point the number of
digitis 7. Buﬂasthoodlgl(fﬂlenumbersaresm4ﬂmrprodudzs( 5x..4=...20,2
which has a zero at the end. So, the number is 6.

91. Two pipes A and B can fill a tank in 20 and 30 minutes respectively. If both the pipes
are used together, then how long will it take to fill the tank?

® 0

}9(12"““ ®15mm © 25min @ 50min
Hints : Aptpeﬂl portion of tank in 1 min {
1
B, .35 » w nwaluy
y S |
o, togather , . (35+3g) n w w1 n
23+2 _ 1
b ot AP
1
Now, they fill ﬁporhonmlmm
So, . 1(whole) , , X2, =12mimutes
92. The largest number frogyamong V2,43 and ¥4 is: .
@ 2 (ORE L @ All are equal
Hints: Y3=47= %= 2 = \2=1414.
L AB=14...>1414
93. Twg/ numbers are in ratio of 15:11. 1f their H.CF. is 13, find the numbers.
" @f195and 143 ® 190and 143 ©195and145 @ None of these
Hints : Ratiois 15:11
HCF (nghatComnwnFacmr)lsB
So, 1S*numbm515x13 195 .
andz'ﬂ o 11X13 M3 o ssssrIosETIISIIGIIIETIEIIIT
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: According to the condition, BS54 24)" 400 R T |
. 301 Professor's Key 10 G T Bank Job BRI S8+ d=py.
: 94. The value of 1001+ 11 of 13 is : © 18 @169 =8x-3x=72-24' )
é @ =5x=48 i
Hints:lw1+110]'13 s fr-
=1001 +143 . ~.'.x=%
=7 ; inutes after £
km/hr, stopping for 3 minul ;
| 95 An express train travelled at an average speed of 10 ';:\Pfl:om the starting point? Now,
i every 75 km. How long did it take to reach its destination 600 : < "
ery ! g e © 6hrs27min @ 6hrs 30 min btforeﬂyearstherragemhoums 4 : B
6 hrs 21 min ® 6hrs24min 8x+16-8:x+16-8
ints : i in 1 h ) ' ' : e
Hmts. The train travells 100 km in Lr [&! . 8 +8:x48 ‘ : :
A N 8.%:8:%“3'
75x1 _75x60__ Bk
‘o w 75, 4 ’ﬁu— Too = minutes 45 _424.88
e o 575
To travell 600 km it takes 7= 8 steps o= 107:22
Onits way it stop in 7 steps. ; . This ratio is not equal to anyone.
Coww ,wastes(3x7) mints=21, 1+ + Ans. None of these, ! e ea
2 totaltime = (45 X8 + 21) mints = (360-+ 21) mints = 6 r 21 minis. 9. Three partners A, B, C start a business. Twice A’s capital is equal to thrice B's capital
9. The reflex angle between the hands of a clock at 1025is: . ' ‘and B’s capital is four times C’s capital. Out of a total profit of Tk: 16,500 at the end of
@ 180° ® 1925° © 195° 197.5 . the year, B's share is : . : :
Hints : We konow, "‘“3’e=fm‘+“”'{°;1mgre 807 @ Tk.4000 . L6000 T © Tk.7500 @ Tk: 6600
e < ' Hints: Let, C’s Capital is x tk. -
={% -fe W, 50,8, &,
_305]° Again, 2xA's , , 3xdx,
| [ - 1625~ 62 aas el
» - Reflex angle = 360°- angle = 360°- 162.5° = 197.5° ; ! =6x
| 97- If the number 91876 * 2 i completely divisible by 8, then the smallest whole number ~C:B:A=x:4x:6x=1:4 :6
o 2C:B: x: o
. Total profit 16,500 tk.
@1 ®2 3 @4 : R ’
Hints : If the third digi of a number is 0 or ey and the number compossed of 2nd ang Ist digit So, B's share is (1+4+6 X 16,500)tk
is completely divisible by 8 then the whole number is completely divisible by 8, i ¢
the condition. So, correct ans (C), b8 Heeonly3fuly - L = s00
98. Tanya's grandfather was g times older to her 16 years ago. He would be 3 times of her age 8 i = 6000 tk. :
. from now E ; : ‘ e iy :
ga;s 2 m now: Eight y g’l"g;' What was the tatio of Tanya's age fo hat of her grandfathery 100. The totgl age of A and B is 12 years more than the total age of Band C. Cis how many |
7 mm; . ; ©3:8 None of these ounger than A? TR
’rh .'50 '16 ears ago g“”y” was x years, 12 : ® 24 © 26 @ None of these
/ - 0w Grandfather , gy 1,Hinlsélet,TotalageofA+B =xyrs y
Now, Tanya is x + 16 and Grandfather ,, 8x + 16 ; 2i Ty B+C=x-12
5 ” ” " . S ”
After 8 years Tanya will be = (x4 16+8) years = (x 4 24) years ; EOE) (=)
sosmanns . Crndfuther,, ,, =g 2 A-C=12yrs
Hence, C is 12 years Younger than A.
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PART TWO : DESCRIPTIVE QUESTIONS; Time : 2 Hours; Marks : 200 " z;ﬁg‘saPP"mNatﬂ\e socio-economic consequences. of- political. violence s What
itten in the given space) 1 it i G il EL e ‘ B i e
A E(.,A?swer have to be written 8 30 Marks] Y itisa b“"“n_g question now. Hartal, counter-éncounter attack aginst each other’
Private sr;ctogr l;veg(:!e‘m h. ined relatively stagnant for the last few years. What A i condlict and so forth political violence are now existent in our country. Do you
as remanined r € SOC10-economic consequ these vi ? 3 54
measures do you suggest to increase the private sector investment? se. All kinds of 1 enca: . Thei w?ler?ce: A 1.
Ans : The measures that should be taken for the private sector investment : . 3 Ristindis B people are at stake. Their life IS,‘ in no way., sef:uv ‘ne ?ut ‘51de home._
i | 1. Governments are required to become more investment oriented if they are to increase the { | i es have ‘been hampered to a great extent since educational institutions remaini " .
; u&ll kinds of national and international trades and business can not run smoothly. Asa-
oclo-economic condition has been severely deteriorated.

levels of private investment. They should come to understand the factors that influence the
dynamics of private domestic and foreign investment. . ’

2. Public sector policies and behaviours play a key role in shaping conditions' for mw{estrnent.

Private sector development requires the development of markets that comprise the interplay
between public policies, laws, regulations, norms, etc. — as well as private actors. GOVF should
confirm these elements that create a market in which private investors make their choices.

3. Countries wishing to encourage positive investment decisions need to consider the risks, FOSfS
and rewards that influence these decisions and find ways to ensure the market for private
investment performs competitively. While growth depends on private investment, private
investment depends on a sound infrastructure and adequate human capital, both of which
depend on an adequate level of national savings. Thus, aid financed infrastructure
development and human capital investments can make a vast difference in promoting
investment, particularly foreign direct investment.

4. It is essential to engage with the private sector when identifying priorities for reform of the
investment climate. In general terms, the private sector usually requires a stable and
predictable investment climate. Moreover, issues such as transparency, reducing corruption,
good public governance, strong rule of law, a sound macro economy, performing institutions
and the right regulations are essential for sustainable investment and economic growth.

| 5. Private investors cannot be expected to put scarce capital at risk in nations where corruption is

: rampant and the government untrustworthy, or where essential infrastructure is missing. So

improving governance and reducing corruption are must for private investment.

f 6. Greater focus must be given to the development of rural infrastructure as the foundation upon

which business climates can be improved with fully functioning markets. For example,

investment in road improvements is vital. Without adequately maintained roads, producers
and communities are often isolated, leading to high costs and low returns. Roads, however,
are just one essential infrastructure component for sustained development and accelerated

Ol are right. I can add to this. This political violence causes infrastructural damages and
our per capita income. Besides these, many kinks of deals and deads ¢annot be settled

e to this violence. Foreign investors are showing reluctance to invest in suchra disorder
o tion. As a result, this political violence is making our economy lame. Price-hike is another

R o ence of this violence. :
gy fdct, all kinds of personal, commercial and social aspects aré' endahgered, and our socio-
' ‘economy faces negative and harmful consequences because of political viclérice. So what
should be the remedies according to you? :
A : Tthink all political parties should practise democracy without destro
. B : Exactly it should be. Ok. Thank you.

A : Ok. See you again.

ying any socio-economic interest.

i [5% 6 = 30 marks])-

It is not enough to define ‘democracy’ by words alone : it must be defined by its methods. And it'is -
Z certainly one of the methods of democracy to accept, as final, the decision of the majority on the various -
B issues that arise. But this is not the whole method of democracy. Democracy is being confused with.

majority rule as a result of concentrating on what is only a part of these methods. What we call*
coming of democracy has been the progressive extension to every person of the right to choose
representative in parliament. The very name of parliament from the old French parle-le-ment, or *
the mind"- affords the best clue to its nature. Parliamentary government means legislation by the wh
House, and the method of parliament is the method of debate and dialogue. Spokesmen of:
minority, or minorities, participate in this dialogue just as freely as spokesmen of the majority.
comes at the end; but what comes at the end is not necessarily what lies at the heart of the syst
debate is more important than the decision. For, it is the debate that makes it possible for opinions:
/' formulated and exchanged. The debate enables representatives of different points of view to p
% - one another of the merifs of their case. In this process, the minority participates on equal terms.

. © (a) Thebest title for the passage will be

A

j agriculture productivity.
'i 7. AH kinds of polit{cal violence must be stopped and democracy should be ensured to attract the Ans : the system of democracy. ..
1 private sectors to invest. i £ b ey b 3 / \. !
] The application of these measures may increase the private sector investment. ; ¥ 11‘ },,f;bi) Kw::miﬁmﬁgm m;ans i : g ‘» R e 4
2. Creative Writing in English [30 Marks] it 3 v_‘g@ The passage suggests that » \
| ' Ans:democracy makes all equal.

? " Wrrite a few imaginary conversations between two friends who are discussing the socio-economic

“(d) The word ‘progressive’ in the passage means s

"4 Ans : advancing or developing. o

¢)’ What is meant by ‘majority rule’ in the passage? . 5.
4 ( ) Ans: A system in which power is held by the largest number of members.

f nsequences of political violence.

} ) ow are you?
' ; What's about you?
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4. Mathematic
A. a,b,c,dand e are five ve in incr
numl;e:h-s from the set decreased the sum of the reamining numbers in
one of the numbers was deleted from a, b, ¢, d and €?
Let, thea=x
~b=x+1,c=x+2,d=x+3ande=x+4
The sum of the total number = x + x +1+x+2 +x+3+x+4=5x+10
At 20% decrease, the sum of remaining number

= (5x + 10) — (5x + 10) of 20% = (5x+10)~ (5x+l0)x100_5x+10 x-2=4x+8

-- Removing number = 5x + 10-4x -8 =x+2
So, x + 2 was removed, that is ¢
Ans:c

T Bank Job

[10 X3 = 30 marks]

Deleting one of the five

g order of size- he set by 20%. Which
[10 marks]

H 1.

)../

d ints : 1y
B. Rahim bought two varieties of rice, costing Taka 5 per kg and Taka 6 per kg each, an ‘Hi I TR IS e | Y HF AT A TG TGP ﬂtﬂﬂ%‘ :
mixed them in some ratio. Then he sold themumreatTaka7pefk&mﬂkm8‘ﬁ";’$;f‘3’ Wfﬁ@mﬂpﬁﬂj@myﬁ vt S e, m%mmﬁ, 3
percent. What was the ratio of the mixture? 19. ‘G - R m 9
Let, the amount of Tk 5 per kg = x ] %;:5 : ® I“ gﬁ
and, , , , Tk6 , ,=y :
The total Costing Prices < (5 + 6y) Tk Hints : wﬂwmmmﬁmwm s, T, R, e |
And, , Seling , =7(x+y) MW«M@WWWI A .
At20% Profit, 20. 'Q‘vp R FHD? i) i
The selling price = (5x + 6y) + (5x + 6y) x20% D) SiRe g 7o ® @ &Re R < © TR AR i
—(5x+6y)+5x+6y 25x+30y5+5x+6)' =&;ﬂn ( v‘mﬁﬁsew @ﬁﬁwm@w _ i
According to question, - English AR R BV T T R e TR R, {
0 AIY. o 7inwy) | 21 Thesynonymof 'motion'is: ' ‘ 4
0 % . @ tuth J¥ impression © faith |
Or, 30x + 36y = 35x + 35y @ fact © actually
Or, 35x — 30x = 36y — 35y X R
Or,5x=y § Hints : Notion — 4139, Nt ©IF, ¥%; Truth — 7%J, Inipression— 417, WIS, Faith—
X ] " Fact— 30T VB, Actually— 3, P | JEAR Notion-¢ Synonym M fmpression |
- 51 5 ’ﬁ. antonym of ‘native' is : g
0 G local cmgem’al intrinsic
.. The ratio of the mixtureis1:5 ipm,n @ ©
Ans:1:5
Hints : Native — mwmzﬁlam !l-’ﬂ!C«mgenml Wﬂ'ﬁ;lnﬂmﬂc

C. A team of 2 men and 5 women completed one-fourth of a job in 3 days. After 3 days another
man joined the team and they took 2 days to complete another one-fourth of the job. How
many men can complete the whole job in 4 days? [10 Marks]

2 men + 5 women in 3 days Complete -i— portion

B s e RS — -
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‘R’EW NCOR ©@ﬁ
 Hints : W8 g i ki
3 mn - m,mmwmm«wm

wwﬁwﬁrmm‘rwmmmmmu

‘EMMw.
o R T s

Hints : 30" 3Dy efrar zzem a1, wiliars, witem, S, wg 3o | oA 70% 8e7 (b) |
18. %mmﬁ'ﬁva

omw T S

G
23. The synonym of ‘reprimand' is
@ assume @ rebuke

WMW- ROPN: Inborn — IS, TIGRT | AR Native- < Antonym T Alien ||

F#; Revive —

RS NG | AR Reprimand-< Synonym T Rebuke.
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3

® Quiet : Serene ) ©Good~:Betm‘ :

¥
lain : Ugly g -
reserve' i B‘S"V?J;y-w Simple ~ %% | Quiet *IF; Serene ~ 37 | Good ~ ST,
Mgf’"&?ymﬂ’ els@ © messi® < 1 | Tiny - 99, 7900, Huge— RPM¥], 38 1 Plain - 10, 7e%; Ugly~ 330,
@ defend fuin - Secure — AR, Measure = e PR 2o Litte b 14 7 covm rlondes
Hints : Preserve — % 1, Protect - 01 ¥

2% (9 Tiny @ Huge 1% 55 Redionds |

Z7#7 Ruin |
<A Antonym .
Defend — 71 1; Ruin — [P, 7 | JOR Preser {he sentence (Questions 250 28):

ist ' te as weak is to —, ; BIBg
Which altemative best the underli "'l"“ﬁo“of m/ ® obsolete Q@/ © legitimate
25. Heisthehli:kihﬁp.t;ﬂhe'society- :/ééd character : L%)Fm ® confused
@ gentle animal ® winner
@ lazy boy © strange man

‘ nate~ASI; Humble — 373, 7; Obsolete — %ATSH, Hewfe; }
TR | ate — SIZPPHS, (34; Fragile
wd T o, e, W bud characer
Hints : Black sheep- <& ®¥ s d

2 ile — SFF; Confused — RIS | FSAK Lucky @ Fortunate <&
izl Y Nkw}'mgile"ﬁ Synony) X ¢ it i) Boa
i i for a long time- ; | place invigilator made us — o dentity card at the test center. 5
* %ell;ep;:; :l:::l’ mmék“‘ a place without ight Gy . Showing show Hh © showed {
ﬁ{i“gnomnce @© in anexciting place: bout it. TR in ignorance :

Hints : In the dark — to keep something secret and 1ot tell p;aﬂ“ et inignonance |
— a lack of knowledge or information about something. FOAR Answe
] 27. Do not get upset about milgynem
@ Unexpected unimportant —
riai ynsure - Uni t — not 1Mpo v
gms : Trivial- $% 91 773, na?impanant; Unexpected - ST, U"*I"*W"‘W”(w B
W"‘?@;ﬂ' Unusual — S7IS1R%; Uncertain - wfAf5e; Unsure— AT

\ ® to showing v
Hints : Make, help, let - 9% causative verb@To11% 18 VRIS object T OIF 77T verb-
base form J077 | T Made-R1 7 FISF object us AT 7% BT T Show 1
35. For an investor who — money,silver or bond are good options. . .
@ has solittle a ﬁ;verylitﬂe © hasso few
@ has very few @© have very few
Hints : Investor, Singular Person Q6T has <3 ¥ 511 TS very

© unusual

I7 “3:' Eio
Mupicipal taxes are based on an estimate of the value of one's Pm.P e“r)’\ 36~Oneshouldbe £ ‘m&
= ana:praisal (® a forecast @ apedicio Ste— ones' ¢
tline ® a projection isal — FFURA 9 FU Hints : One-«&@ f s I e k AL o
gt T TR, ot ol o e s i it o
R Farem‘s;;, Wm g‘gfﬁm & P;oiECHon - cote forga T | TOAR an %\37 — o this room will be sold.
timate of the value @3%an appraisal A T | L% The possession ® The position © Position
| | 29- The‘comreckspe : - harmacitical + e, Hlints ; SentenceoT® this room' 19w WAt AR <ol e @i B "
| i ; harmaceuticle P! ) s AR, R sentencell’ RisT FITE BIGAL.
\4} i @ fm&“m %?ﬁmm“ﬁcal T ‘g Q ﬁ“_“’“’ AR A8 23 SR 3 the T GRRR The possession’ T |
E What does 'doctrine’ mean? , 38. jié you —m!hesarden, someone arrived at home. y
i et (®) sounterfeit © brief i§ & wereworking ® had worked: © work .
’p’a eg\ & principle ' @ will work © will be working
' g)ns:onmm- yoq7 3 36; Adept - 7%, PH; Counterfit - F, T, Brief - I, Soom -

forara, o, ot 3 Principle - Jerfe, 7o, 7R | 6 Doctrine ' Principle 1% 55 T |

Hints : "While'- 8% 3 subject mmmpastc&nﬁnuousmﬂl/ cowf [
WEIeq 716 STAAIF WA whilewhen/as T & T whilewhen/as I& G past 4
continuous tense J, W S I past indefinite tense | ©I I were working T 1

of writing

(® Bread : Food © Story : Reporter

®© Telegram: Sender

+ Hints : Antenna — IS8 3 GRS ARG, Signal- FTF | Net ~ & Fish ~ T | Bread
75 Food— ¥R17 | Story— T8 Reporter — &f&waw® | TV - (e e Sound - 1% |
g - Sender— 68 | Antenna e Signal 1 3 <R Net facd Fish @1 ¥ |

Key To Govt Bank-6
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therlaidbohium‘lwuuold"u-ymwatthemntatﬂleﬁme of your' | i
e thzfathu‘sageig;Byemmw,d\emn‘aageﬁveyedsbnk-wu: %
- ‘®19 L ©3x @ 38 ®29
@ wait ® towalting b % Then futher".
Waiting © waited oo 0erb &R T (I verb s ﬁ:}:er' sagew:sxy(m o 2
. I ; t, postphone &5 , father’s present age (x + x) or years
ints : admit, avoid, enjoy, feel, ke, mind, SUg8es 20238 x=19
AT ORI 'ing’ T& T |

R Aptitude Test - T
i i ywing must
41. Jfxand y are consecutive positive mtegen;whd\ of the follo . 14 o
®x ®y ©‘7_Z @y ; -leswe)wywthm,odd 1
Hints : As x and y are consecutive positive integers. Let,x=1andy=2.
Xeven =even.so, xy=1x2=2. o
42. A company's profits have doubled for each of the last 5 years. ‘:; the ::al p
the last 5 years were Tk 62 million, what were the profits in the first ye

.'.5yearsbacksanumsl9-5=]4ymrs

47. In a group 'of people solicited by a charity, 30% contributed Tk 40 each, 45%
contributed TK 20 each and the rest contributed Tk 12 each. What percentage of the
hhlmonmeamﬁvmpwplewhogavemmeah%s e

o 1@ 25% ®30% - -

©40% @ A5% \94@
Hints : Let, Total participant = 100 o { i

30% contributed =40x30% = 40 x 2% =12 Tk.

100
@1 ®4 2 @5 ©6 45% contributed =20x45%=20x 19 =9 Tk.
Hints: Let, first year Profit = x. As profit have doubled for each year, 0.
¢ 2nd year profit = 2x

Rest ={100- (30 + 45)}% = 25% contributed =12x-1%=31‘k.

i Thepercentagenftotalamoummmﬁompeoplewhogmﬁwwch -

" 3rd year profit = 2x x2=4x th
4th year profit = 4x x2 = 8x
Sth year profit = 8x x2 = 16x
-~ Total profit = x + 2x + 4x + 8x + 16x = 31x

12
T2+9+3 % 100
10 i s
=§x100—50%

] B.Ammuhctueofpickleswants,homakea&oﬁuol‘k 75 when he sells 300 jars of |
According to the questions, ; > pickles. It costs Tk 0.56 each to make the
31x=62
SxX=2

st 100 jars of pickles and Tk 0.55 each to ||
make after the first 100. What price should he charge for the 300 jars of pickles?

@ Tk 75 ®Tk175 ©Tk225 \ @ Tk240 ® Tk 250 :
Hints : First 100 jar's cost = 100 x.56 = 56 Tk. !

Next 200 Jar's cost = 200 x .55 = 110 Tk.
-~ Total cost for 300 jars = 56 + 110 = 166 Tk.

'I'hesellingpriceforthe300jm¢y‘pidda=166+75 =241Tk
Note:ConectAns:Zngk.

43. Which of the following is equal 72) + 28*(456)?
@ 72*(456+28) \@%Zéis) © (456+28)*(456+72)

@ (28+456)*(72+456) g@j (456+456)%(72+28)
Hintts : 456*(72) + 28*(456)

=456*(72) + 456*(28) = 456*(72 + 28)

A
44. The lengths of the sides of a triangle are in the ratio 0f 3 to 5 to 6. If the perimeter of
the triangle is 70, what is the length of the longest side?

@5 ®6 ©15 @ \;onﬁ\
Hints : Let, the sides of a triangle are 3x, 5x and 6x |

studg: tudmdanumbubyzo%umﬂ\q\mud_iumbyw@umdmm
etw€en the'las number'andﬂ\e’mgimlnumbe_t iss,ﬂ\mhoﬂginalnumbgrwu: By
@ 200 ®250 ©300

@ 450 ©400
Hints : Let, the original number = 100 \ mt ¢
; i "20% reduced =100~ 1000f 20% <80 wd
According to the question, Then, 20% increased = 80 + 80 of 20% = 9 ey
3x+5x+6x=70 The difference = 100 96 = 4 . L -
el 43 R 4 difference then original number = 100 ' " i
SX= \ 1 3
4 100 a
.. The length of the longest sije="5Y = 6 x5 = 30 i ol 3 3 " "o o L e &
— 45. How many '8' Mﬁemywhenyoucoumfmmuclom i _‘ . ‘ =100x8 .00
i’ @n 20 ©80 @n &10 ‘ 1
45 Hints: 1 to 100°8" wil come -3, 18,28, 38,48, 54,63, 78, 80,81, 82,83, 84 g5, g

87,88, 89,98

LearningHomeBD | http://bit.ly/job-sol-app



https://freebdschool.blogspot.com/p/app.html
https://learninghomebd.blogspot.com/
http://bit.ly/job-sol-app
https://freebdschool.blogspot.com/p/app.html
https://freebdschool.blogspot.com/p/app.html
https://freebdschool.blogspot.com/p/app.html
http://bit.ly/job-sol-app

era@aﬁr S oSS @l

Android A

L‘ETJ

Job Solution

Pﬂollsson s Key 1o Government Bank. Job il

— -56. ;' Which of;
441l Professonr’s Key 1o Government Bank Job e ration of Tahia's income s G, ﬂle.ﬁollowmgm least like the others? ; :
7] 50. 35% of Tahia's income is equal to 25% of Nona's Inc0 i 7 Hings: The - Sphere ©Pyramid Circle . .(@® Cylineder
to Nona's income is : 57 ®@3* 25 dem:smmi,m two's and other's show three dimension.
@75 ® 43 ©47 57. Lamp A is less bright than
Hints: Let, Tahia's income = x and Nona's income =Y bright as Lamp Dsh map B; Lamp B is brighter than Lamp C; Lainp!C is as
According to the question Lamp A. Which is brighter than l.amp D and Lamp D is bnghhet‘
35% of x=25% of y ® is the bnghmn
LampA i
=% -1 Hints: A<B;B c.lampB ClLarpC @ LampD ©nosoluhon
s 35x= 25y g >C;C=D;B>D: D>A. Anmgthemlamszsﬂtcbnghlesﬂamp
=1=% ushfique is as tall as Mominul; Shakib is shorter than Tamim; Tamim is taller than
“ ‘ MOmlnu]mdeﬁth’h er than Sakib. Who i i
wx:y=5:7 ofiesnoon of @ - Who is the shortest?
3 e B
51. A watch which gains 5 seconds in 3 minutes was set nght at 7 am In the @ Thamun[mhﬁqu Mominul © Sakib
same day When the true time is 1 pm, the watch will indicate : . PoT) o ©:no solution
1:10 pm ® 12:55 pm ©1:05 pm @ 1.08pm ® 1ot MDmmuI<Mus);ﬁ,\¢e Shakib < Tamim
Hints : The time difference = 1PM — 7AM = 6 hour = 360 minute otlvy o5 Mominul < Tamim; Musfigue < Shakib
3 minute gains from 5 second Here, Mominul < Mushfigue < Shakib < Tamim
1 v w & -g . So, the correct option is (B
- 5350 59. What is the next item in the sequence? Choose from tight—
o ” ” n = 3 s
= 600 second = 10 minute ‘__ ; ~TI < A
& So,atIPM,thewatchwu'IIimlt'azte:IPMHOminute:I:lOPM % ¢
52. Which of these numbers are least likg the others : 3, 5, 11, 14,17, 21. A
@5 ® 11 14 @17 ®21 r—'m@-- \ ® >< |:| ® O
Hinst : Among the numbers 3,5, 11,/14,17, 21, Except 14 others are odd number. Hm
*| 53. Insert the missing number : 16, 33, 67, 135, 271, (-.) & : There are one line in 1st box, Tuo line W'Slﬂe in 2nd box, three line creates a ||
543 <1'rtqytglem3rdboxandjourlmecreatasaquadnlabemlm4thbox So the Correct option is (d).

@ 371 ® 406 © 451 @ 505
Hints : Here, next number = (Previous no. x2) +1

So, sequencially, (16 x2)+1=33
(33x2)+1=67

by this manner, the next number = (271 x2) +1="543
54. The numbers 13, 7 and 11 would enjoy the company of which of these numbers : 10,

15,17, 12,187

@10 ®15 17 @12 ®18
Hints : Here, 13, 7 and 11 are prime number, So, among these numbers only 17 is correct
because of prime No.

| 55. Which one of the following five designs is least like the other four?

ols | oA\ @/4@

Hints : nemr'rectoptwn(d)bamusextdmsntdwwanyrecwngkbutagwmm”mglzm
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60. What is the next item in the sequence? Choose from fight.

Nl |[f

e \) | ©| 1 o</ ® :
, Hints: Hene, :
Anglebelwemhwlmeml"box 45°
e * oo in2Md = 45°4 45°=90°
w S wooo in3M, =90°+45°=135°
o loge o indh, =135°+45°=180°
. Twolmes’nuheasbmghtlmem#"box.
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461l Pr g o pens 3¢ Mir, T
2 ofessor's Key 1o Government Bank Job s oo s des .T;‘he sius 04 Siepio h 1ds makeup approxpmately what percentage of Dhaka city's | §
: 61. Masud has all his office supplies laid out in an order y,\ex« o the SBPI" " iion is _ Households in 20007 o ‘ -
directly to the left of the memos. The lamp “““o‘: ; ¢ the stapler ich pO° S 05 ®1 : 10 () 0@ 50
must be in the middle. The clipboard is to the left O © ) " Hints: The et 708644 -
the lam in? (giving the positions mumbers 15 from R0 F80 g5 S Perceniage of Dilo Clly' s houaddolds. = gy <100 %
1 ®2 ©3 @4 s =10%
. . i Memos -
Hints : 1. Pens are directly to the left of Memos = Pen : e ! » How many people approximately were there per househotd in Mirpur in 2000?
2. Lamp Cannot be next to the stapler = stapler @15 ®2 ©25 ’ . N @25
3. Memos must be in the middle = 3rd place FR 3 ;
4. Clipboard is to the left of the stapler = Clipboard«—stapler - - Hints : Here, Total Population = 1822195
For four explanation Condition we get these sequence 5 and Total Household = 708644
1 2 3 P Stapler . People lie each household =1522122
Lamp Pens Memo Clip 4 Deepti poth take | A
‘ ; . differently. Rumand &% ° . e other ; .
62. Everyone has their moming beverages ahboob al drink tea while i =8 (approximately)
g & s and Mahboo! ose who \ 4 R
g - — ke ey B8 have milk in their bcv&ffﬁ"'s' T 66. If in 2000 there were 61,000 people living per square mile in Mirpur, what is the
three drink coffee. Masud and Mahboob “What does Waqus® drink? approxipte area of Mirpur?
O
don't add anything, take their beverages black. Whal i ) , .
@ Tea with sugar ® Coffee with milk © Biack @ L54qmiles ® 18sq miles © 21sqmiles
@ Coffee with sugar ‘ 30 sq miles @%sqmﬂs
Hints : Hints : Peole living per square mile = 61,000
Tea Total population in Mirpur = 1822195
3 3 < 1822195
Riunaha .~ Approximately area of Mirpur ==gi500
Osman =29.87sq.mile
Mahboob [ Waquar | oo
ik so he takes/drinks Black Coffe. i : il
As Wagquar does not take sugar and Milk so k) during this ide? i Based on the graph answer : Questions (67 to 70) Y
et e R WhatwaShISSPeg ﬂ‘: ©4 mph The bar graph given below shows the sales of books (in thousands) from six branches (B1, B2, B3, B4, | &
5 mph ©@umph  @9mp B5, B6) of apublishing company during 2011 and 2012. Based on the graph ansuer questions 67 to70.
=1 hour
} 120
50 - 3hour. ) 110
100
20 "L
e is‘rl =15 mph 87?)
Answer the following three questions based on information in the table below 60 ot
(numbers are fictitious): 50 ;
Population Statistics Mirpur Dhaka City i 40
Population, 2003 1,933,7981 19,190,115 o ig -
Population, 2000 1822195 18976457 £ 1 .
Households, 2000 708644 7,056,860 il

LearningHomeBD | http://bit.ly/job-sol-app



https://freebdschool.blogspot.com/p/app.html
https://learninghomebd.blogspot.com/
http://bit.ly/job-sol-app
https://freebdschool.blogspot.com/p/app.html
https://freebdschool.blogspot.com/p/app.html
https://freebdschool.blogspot.com/p/app.html
http://bit.ly/job-sol-app

era@af?r DGk SIS Dol SIS @l
L‘ETJ

Andmld

Download Now

r

4

8 Il Professor's Key 1o Governmient Bank Job to the
r— |
i 67. What is the ration of the total sales of branch B2 for both Y62 ‘
branch B4 for both years?

@® 23 ®3s5

11 |
©45 79 © |
Hints : The Required Ratio = Total Sals of B2: Total 4t of B4

{
=(75 + 65/ : (85+95)
=140:180
=7:9
68. Whatis the avera

20112
sales of all the branches (in thousands) for the ye&r o
@73 %0 ©
Hints : Tota]

83 @8

in2011=80+75+95+85+75+70
=480 thousand

-+ Average sales in 2077 =480

= 80 thousand.
69. What is the ap,

Proximate growth of sales of B5?
® 18% ®21%

©23% 7% g%
Hints : The difference value of sales of B5 = 95— 75

=20
* Approximate growth of sales of BS -—xloo%

=26.67%
=27%
70. Wthch branch Wm performance in 2012 compared to its 2011 sales?
¢ @B1 B2 ©B3 @ B4 ®B6
Hints : The sales of B2 Branch in 2011 < 75
and, ., B2 ., in 2012=65
!

The decrease sales = 75 — 65 = 10

All branches had good performance but onl
Compared to its 2011 sales,

ly B2 Branch had the P
O e i §) worst Performance in 2012
General Knowledge ‘
[ 71- The largest river in the world is
@Nﬂla ® Brahmaputra \m‘m
oo ﬁ:w:r{ga ©Volga

ts: SAIe | 7 A oy E o
G 1 SRIRS Z77 @ 7w | Wmmmm% Qmm
P 1 R G 77 Ao, A7 07 wrae R | ™
| 72. Which ocean divides America and Europe?
2 @ Pacific ® Arctic

© Caspian
Hints : W”Wmﬂm’luw@wm
STCHEST TR SRS | e A7 o T8 R0 R oo by

e ot v ST & i

301 Soef
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73. Which of the following is not an agency of the United Nati

@ ILO ® WHO ASEAN
@ UNICEF ® UNESCO
Hints :

ILO, WHO, UNICEF, UNESCO 9ot @ifsres Re1a1ie eyt | ASEAN

(Association of South East Asian Nations) 2021 #faF- «mmm@zm,m
FF I Soft R A T ZHIAMIAR SIS |

74. Which of the categories of Nobel Prize was not orig'ina“y included in the will of
Alfred Nobel?

A @rhysics % sty  __© Peace
ic Science

@ Medical Science
Hints : wmmmmavmwmw»wmmmwmm
LI G T | S5 AT (A AEROTS (AT J3F1T 71 Tl

75. is the elaboration of 'PRSP'?
Poverty Reduction Strategy Papers ~ (® Population Reduction Strategy Papers

© Poverty Reduction Synthesis Papers @ Population Reduction Synthesis Papers
© Power Reproduction Strategy Papers

Hints : Poverty Reduction Strategy Papers (PRSP) ﬁmsmmmm
W ISP TG (TIEIE  AIR ST FI S T i

among the following was/is not a Governor of Bangladesh Bank?
Dr. Akbar Ali Khan

© Dr. Salehuddin Ahmed

© Dr. Atiur Rahman

® Dr. Mohammed Farashuddin
" @ Dr.Fakhruddin Ahmed |

Hints : JET0P1 TGP TS 16 ©, WEST T2 | G, amwwmwaswmwﬁﬂ
IR S ©, PR ST I JICF T R 1

ard integration is :

A vertical integration in which a consumer of raw materials‘acquires its suppha

@® A horizontal integration in which a consumer of raw materials acquires its supphes
© Ensuring that factory is located near a riverat its backyard.
@ Ensuring that factory is pollution free,

.. © Engaging in selling of finished goods through new means 4 %
78. The first Bangladeshi woman to climb the world's highest peak, the Mount mt ist
& Nishat Majumder  + ® Wasfia Nazreen
@ Wasfia Majumder ‘ ® Runa Yasmin

Hints : 2R S0P T ROTI 11 TGAT 35 (7 2033 TET OIS o 3 | gy

wﬂﬁﬁmwﬁwwmﬁrmﬁw&a@x:mmw
I ZIRT OIS & FET 0 (2030 |
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= The soft loan window of the World Bank is : 87. How many amendments are there in the constitution of the Peoplg’§ Republic of Bangladesh? :
@ MIGA ® IBRD \@S DA @10 ®n 15
@IFC ©1CSID @18 ®19

Hints : 701 39 CBT 2038 I TSR RIS TR JHS T |
. The GDP-Growth rate of Bangladesh in 2011-12 was:

(IDA) 2féfEe
Hints : [A¥1GT 50 9APREA 0 International Development Association
!;;MOWIWWWWWWWSOﬁImnWMWWI

80. Who is the father of Geometry? ° ® 53% s © &%
@ Aristotle \@ Euclid © Pythagoras 3% ® 7%
@ Kepler ® Newton Hints : 033-33 WA 07 fErfSf oRfed 21 féer v.0% 2039-38 T @ T WG 6.93%-4 |

Hints : 707 S@ o 360G | GfF 507 TR, MNP TRAUTOH, ﬁ@z?a
FTEICT G T 9 R SFe & AR /
81. 'A Farewell to Arms' was written by:
@ Charles Dickens b@’fm&st Hemingway © Thomas Hardy
@ Leo Tolstoy . (© William Shakespeare
Hints : Wz ARTy TS SoFa1ST 2 “A Farewel to Arms’, “For whom the Bell Tolls',
'Old Man and the Sea’: *
82. re is the permanent secretariat of SAARC?
Kathmandu ® New Delhi © Islamabad
@ Colombo ©® Dhaka
Hints : 35b¢ 07 2318 7 T Sedas TRIRe! gl It EG 7 787 T

89. The length of the proposed Padma Bridge is :
® 52km 6.15km
® 725km

a1 TSR O 4 TR v.5¢ [, R 2F S50 B 1

(® Bernard Shaw
@ Bertrand Russell ®© Pablo Neruda
Hints : % 76 ' 352¢, IB.«P1. a0 5580, an}fsarm»eommmm:m
HAIRCST AT FTHIA 7S P | o7\ BTy AT AT W1 S Pl |

I Basic Computer Knowledge

© TS. Elliot

91. ich of the following coeamands is given to reboot the computer?
NS S | < T R b Ctrl + Alt + Del ® Ctrl + Alt + Tab © Ctrl + Shift + Del
83. OTC stands for: @ Ctrl + Shift + Tab ®© Ctrl + Alt + Shift

@ Over The Counter ® Over The Court © Over that Counter
@ Over That Court @© Old Town City
Hints : @007 3% SHOOGT ClARIgs 561 GIASIan (Pr=iaeta CIaa ETmad &
T o T 73 T, I Over The Counter (OTC) A S |

84. Addis Ababa is the capital of :

Hints : cmmmuamwmammaﬁﬁ;ﬁwﬁwﬁ@ﬂnmﬁmwm«ww
mmmmmaﬁmmw:wmmmmga mmﬁw
appliegtion 7 CTSHN T | ¥
'Bkasl' is an example of :

® Application software _ (® Third generation language & Mobile banking

@J(:;uopza ggixﬁl:abwe e @ First generation language  © Operating system \ ( :
i 7
Hints : &7 TS A1, AL -5, T 3@@ Hints : Bkash (RM) 0% (IAIReT GO I3 ¥ _ﬁﬁsmﬁarm,m #
AT 2 ST TR -, i SIFC G171 BN TS VGl | <6 FIF VNPT o> 2B | L -
85. The Olympic Games in 2012 took place in : . 9. You m‘\fs install this on a network if you want to share a broadband intengt
@ Lps Angeles ® Sydney Seoul conngcfion : ;
don © Bejiing © . Ca:tl:r @ Modem © Node

Hints : 203 07 ©o®¥ WAfRE ofr rfde 3 Seeiss
mﬁeﬂeoeommwmsmmm,mmmmm%@

*| 86. Shirin Ebadi, who won the Nobel Peace Prize in 2003, is Iro
q ® Nigeria

Hints : W(W)Mﬁmmm wﬁﬂamwmmm
O WA (I AR A, O A T | G EOSIRGE W (RGAIR R TF A SRR (0
mmewmmmmmmwum:

94. Windows is a/an
'@ Scanning software tmgsysem © Programming language.«
@ Aitivirus software /@ Data storage device "
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Hints : @l FT27 (Operating 76 4 T iy
oA wamaﬁvr@mmﬁwmm Z
mﬁmmmﬂmww 8 afwﬁ:;@wm
Ww#%mmﬂdqﬁsﬁwm;wmamwmwm( /

95. Which of the following is notan output device?
@) Scanner (® Printer

@ Monitor © Touch screen "
Hints : 19 (Scanner) (A ¥R 3 T g el oo 3 FIBOE TREH

Ww:a@mmwmﬁnﬂmwmm%,
WWIWSmnnﬂmmwml

96. MPEG extension refers to: w( '
@ System file (® MS Office document ideo file
@ Image file ® Animation file
Hints : MPEG 207 727 e f3fSs Sfds 9131 ey FI2ey b1 % 1 2003
e e «% W13 aEbTIEa fRfsy SpfReE A MPEG-L, MPEG-2, MPEG-3 4%
MPEG4 (IMP4) 1
97. MPEG extension refers to:
@ Voice over Internet Provider () Voice over Internet Practice Voice over Intemet Protocol
@ Voice over Intemet Protocol © Very old Internet Protocol
Hints : VoIP~ 9071 Voice over Internet Project | <& TGTA Voice. (SO0 [P 100G FI1SH
P BTITAGT TG EF (P FYZI P T I |
| 98. Which of the following applications is used for calculations?
@ Microsoft Word Microsoft Excel (© Microsoft Outlook
@ Microsoft Powerpoint @ Adobe Acrobat <
Hints : VP75 LI TR AT L0 C2N G | TS HT
JRIT T NS, AP, e [fsy 79 RAT II7 T AT 1 NIAFITEG
THTT FIRENE G TN |
\| 99. In MS Word, pressing CTRL + S will result in :
Saving the document ~ (® Centering alignment ~ © Exiting from MS word
@ Underlining text © Deleting text

Hints: MS Word & CTRL+S 07Tl SFIB (ATl I3CeT 7o el 33 F3A0
R TAFS 3
CRIEA! 70 I T J | ) e

© Laser Printer

« 100.Which of the following is not anti-virus software?
@ Norton ® Kaspersky © AVG

’

PART TWO : I PTIVE QUESTIONS; Time : 2 Hours; Marks : 200
(Answer have to be written in the given space)

01. Write an easy in English on "The importance of discipline in the financial sector of Bangladesh' (30 Marks)

The Importance of Discipline in the Financial Sector of Bangladesh
Introduction : A healthy financial sector is crucial for economic growth, especially for economies
like Bangladesh. Because, economic growth in Bangladesh must come largely from exports and its
enterprises must, therefore, be internationally competitive. But unfortunately due to lack of
discipline, Bangladesh has a financial system in which borrowers fail to repay loans, foreclosure is
almost unheard of, and the government has to bail out banks. The nationalized banks pass on their
losses to the government and receive periodic capital transfusions to keep themselves going on
Thus, commercial banks are at the heart of the problem in Bangladesh financial sector.
MajorpmblcmsinIheﬁnmdaluﬁor:n\emajorpmblensinmeﬁnandalsecmrof&nghdahm
lack of discipline. Furthermore thecmdalproblenmofou:ﬁnandalsectormybeidmﬁﬁedasm\det:
a. Unsound private banks : Small domestic private banks are hardly better off. They offer no

serious competition to nationalized banks.

b. Inadequate suppression and enforcement : Inadequate prudential regulation and weak

suppression are a recipe for banking problems. Poor enforcement capacity robs weak

suppression of what little effect it might have.
¢. Deficient legal framework for loan recovery : Poor prudential regulation and suppression are
made worse by an inadequate legal framework. Banks can absorb some low level of non-
performing loans if there is a strong legal framework for loan recovery, foreclosiire and
liquidation. Bangladesh lacks such a framework. ¢
d. Shallow capital markets : Discipline of Bank are not the only problem in the financial sector of
Bangladesh. Capital markets are small and do not offer a competitive alternative to bank
borrowing. Stock market capitalization relatied to GDP is 25 to 75 times smaller than in
neighbouring South Asian countries.
Measures for cure : Curing the financial sector will not be easy enough, financially or politically. It
needs comprehensive programmes, both short-term and long-term for making the financial gector
viable and competitive. For this, following measures may be considered : PRES
1. Tightening loan recovery and its legal framework : The government needs to tindertake
comprehensive measures for loan recovery. So, government should—
— Amend the Financial Loan Court Act to strengthen the loan courts, giving them the powers to
execute their decrees and staffing them adequately.
— Increase the number of loan courts, especially in Dhaka, Chittagong and Khulna, to clear the
backlog of cases. ; P L
~ Strictly enforce all laws against white-collar crimes. .
2. Strengthening Bangladesh Bank : Tighter regulations should be phased in to avoid shocks to
the health of banking system. For this, the government and Bangladesh Bank should :
- Tighten regulations on bank capital, loan classification and provisioning and:ownership; -
- Define and enforce penalties for insider, lending; ‘ g
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j = Ensure that Bangladesh Bank's autonomy, legal status an

need actions to : : isk management functions;
* strengthen Bangladesh Bank's supervisory, i“SPecuo_n' ueasury Tje:s:(m strfngthem'ﬂg staff
* strengthen monetary management and continue mxtl.a : de technology-
A i . tin the medium term Upgr
capabilities in supervision and risk management in the anks, Bangladesh Bank should
Restructuring private banks : To deal with troubled private banks, 578
develop criteria for selecting banks for restructuring. . ; i
Privatizing nationalized cgommercial banks : Privatizing nationalized commercxta;::]\:s‘ Is
required to cure the financial system. However, in privatizing the banks, the go‘.,men bank
~ Appoint a financial advisor with comprehensive terms of reference for Selh.l\g .the first e
~ Develop a strategy for dealing with the delinquent debt of state enterprise in co-ordination
| with the privatization program for state enterprises.
! 5. Strengthening accounting and auditing practices : The government needs to:
- Require audits to trace suspected insider (benami) loans.

6. Impl ting new inf i hnology : Bangladesh Bank's regulatory functions would
be easier to manage with computerization and real-time data communication links with the
Commercial Banks it regulates.

Developing staff skills : Professionalizing the banking business will generate large, long-term
! payoff's in the form of a more efficient banking system.

4 8. Deepening capital markets : The government should take steps to increase the ability of capital
markets to efficiently provide long-term funds through debt and equity financing. Thus, the
reforms should include;

j = Strengthening prudential regulation in the stock market and gradually removing over

restrictive and ineffective regulations on share issuers and market makers.
— Strengthening the securities and Exchange Commission.
9. Restructuring state-owned development finance institutions : Strategy for deepening the financial
system must give special attention to development finance institutions, the traditional but now
ive source of term finance, to help industry respond to the growing economic liberalization.
! 10. Strengthening contr. 1 savings institutions : The government should examine ways of
strengthening non-depository contractual savings institutions through actions to :
~ Strengthen the management, collection and fundi performance of state-owned pension funds.
— Provide best practic examples for setting up private pension funds.

organizational structure which
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allﬂxepmgramsandeffortswillgotoashy, ion. ise,

02. Read the following passage and answer the questions below :
The debakg over environment-development relationship is not new, Howeve:5 ; 6=30 Marks)
o e rlaionshiphas become etreelycrclior ressns tht e, e o -, %
1 lobe, particularly of Bangladesh, experience each day. The path every citizen
engineering of the developing countries after decolonization S%d.with Path of developmen
down xdeas_. _'l_‘hen came growth with equity followed by basic needs app mg::":xbm trickle-
25 sz a0 Participatory
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" development. Subsequently sustainable development which embodies all thes previous strategies,
with only one new element added i.e. environmental sustainability, came in the mid-1980s. This
developmental tool developed a consensus based on three dimensions-economic, social and
environmental. .

How has environmental sustainability affected globalization? Human-induced climate change is

universally agreed to be the Red Light of global unsustainability. The glaring contradiction is that

while the industrial countries press for adopting newer market mechanisms for emissions
reduction, they do not commit to binding reductions. In 2012, global greenhouse gas emissions
witnessed a 40%n rise instead of the set target of 5.2% average reduction in industrial cmmtn&q
under Koto Protocol. On the other hand, the LDCs have been condemned to double exposure —to
runaway globalization and climate change, making them ‘double losers." For example :

Bangladeshi garment products end up paying 4-5 times more tariff to enter the US market than

other industrial countries. On top of this, the imposed burden of climate change is pulling us

decades back. )

With a population half of the US, but 65 times smaller in territory, Bangladesh, is regarded as a

development paradox, with its average of 6% growth a year during the last few years. Bangladesh

is regarded as a test-case of sustainable development, given its socio-economic and physical-
geographical parameters. The Question is : How can countries like Bangladesh develp sustainably
under this model of globalization?

a. What would be an appropriate title for the above passage?

Ans : Environment : its Effects on Sustainable Development.

b. What path has the developing economies travelled during their development process after
decolonization? ) 2 )
Ans : Growth-based tricle-down ideas were the paths with which the developing tries
started during their development process after decolonization. 703 b at

¢. What makes sustainable development a unique developmental tool? Py
Ans : In the way of sustainable development there is a consensus which is. based on three
dimensions named economic, social and environmental and along with these dimensions, the
consensus makes the sustainable development a unique developmental tool. :

d. What makes Bangladesh a'double loser' according to this passage?

Ans : Two aspects named globalization and climate change make Bangkladesh — double losers.

e. Why is the example of Bangladesh termed as a 'development paradox'?

Ans : Bangladesh's average growth is 6% in a year and during the last few years in spite of its
having half population of US and the territory that is 65 times smaller than US. For this reason,
Bangladesh is termed as a 'development paradox'. -

03.A, B and C do a job alone in 20, 30 and 60 days respectively. In how many: days can A do-theijob

if he is assisted by B.and Cin.every, third day? v 1 Cin agram’ 210

Acandoldays%wnrk. .

SNA w3 ou

”

Similarly B candoin1day 55 work
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